13:21:46 4/10/2025	Public Improvement Assessment R I	oll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200 N	Manager: LMR	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Edward J Plourde Iv 1345 Alaska Ave St Paul MN 55116-2339 *1345 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	WEST END EX NLY 45 FT LOT 21 BLK 23	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	45.00 45.00 -2,155.85	\$5,797.35 \$1,026.00 (\$2,155.85) \$4,667.50	15-28-23-14-0052
Francis L Amyotte Arlene Amyotte 1349 Alaska Ave St Paul MN 55116-2339 *1349 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	WEST END NLY 45 FT OF LOT 21 BLK 23	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	45.00 45.00 -2,080.85	\$5,797.35 \$1,026.00 (\$2,080.85) \$4,742.50	15-28-23-14-0053
Clifford B France-Ramirez Laura Kunze 1353 Alaska Ave St Paul MN 55116-2339 *1353 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	WEST END LOT 22 BLK 23	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	50.00 50.00 -1,376.50	\$6,441.50 \$1,140.00 (\$1,376.50) \$6,205.00	15-28-23-11-0037
Michael R Tschida Mary Tschida 1354 Alaska Ave St Paul MN 55116-2373 *1354 ALASKA AVE	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOTS 10 AND LOT 11 BLK 5	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1 *** Owner and Taxpayer ***	128.83 22.80 1.00	69.00 69.00 -4,779.97	\$8,889.27 \$1,573.20 (\$4,779.97) \$5,682.50	14-28-23-22-0056

13:21:46 4/10/2025	Public Improvement Assessment Roll by Address Ratification Date:  Project: 19233B Assmt: 215200 Manager: LMR Resolution #:				Page of	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Nancy Fuchs Richard Fabian	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOTS 16 3 AND	Grade & Pave - Single Family Lighting - Single Family Resid	128.83 22.80	68.00 68.00	\$8,760.44 \$1,550.40	14-28-23-22-0051
1384 Alaska Ave St Paul MN 55116-2373	LOT 4 BLK 5	Special Benefit Cap 1	1.00	-4,718.34 =	(\$4,718.34) \$5,592.50	
*1384 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***				
Patricia R Finnegan	WEST END LOT 29 BLK 23	Grade & Pave - Single Family	128.83	50.00	\$6,441.50	15-28-23-11-0044
1387 Alaska Ave St Paul MN 55116-2339		Lighting - Single Family Resid Special Benefit Cap 1	22.80 1.00	50.00 -2,776.50	\$1,140.00 (\$2,776.50)	
*1387 ALASKA AVE		Special Benefit cup 1	1.00	=,,,,,,,,,,	\$4,805.00	
*Ward: 3		*** Owner and Taxpayer ***			\$ 1,000.00	
*Pending as of: 4/14/2021						
Manuel Maria Azar	WEST END LOT 30 BLK 23	Grade & Pave - Single Family	128.83	50.00	\$6,441.50	15-28-23-11-0045
an Kies		Lighting - Single Family Resid	22.80	50.00	\$1,140.00	
391 Alaska Ave		Special Benefit Cap 1	1.00	-2,574.00 =	(\$2,574.00)	
St Paul MN 55116-2339 * <b>1391 ALASKA AVE</b>		*** Owner and Taxpayer ***			\$5,007.50	
*Ward: 3						
*Pending as of: 4/14/2021						***ESCROW***
Jennifer Lee Nelson	WEST END ELY 1 5/10 FT OF LOT 31	Grade & Pave - Single Family	128.83	62.00	\$7,987.46	15-28-23-11-0047
1397 Alaska Ave	AND ALL OF LOT 32 BLK 23	Lighting - Single Family Resid	22.80	62.00	\$1,413.60	
St Paul MN 55116-2339		Special Benefit Cap 1	1.00	-4,211.06 =	(\$4,211.06)	
*1397 ALASKA AVE *Ward: 3		*** Owner and Taxpayer ***			\$5,190.00	
waiu. J		5 Whor and Tampayor				

13:21:46 4/10/2025	Public Improvement Assessment F	Roll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200 N	Manager: LMR	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mark R Hennen 1401 Alaska Ave St Paul MN 55116-2341 *1401 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	WEST END LOT 15 BLK 24	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	50.00 50.00 -2,074.00	\$6,441.50 \$1,140.00 (\$2,074.00) \$5,507.50	15-28-23-11-0057
Laura Corts Paul Corts 633 Thoreau Dr Burnsville MN 55337-3649 *1407 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOT 6 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 -1,720.20	\$5,153.20 \$912.00 (\$1,720.20) \$4,345.00	14-28-23-22-0029
Phillip M Korkowski 1411 Alaska Ave St Paul MN 55116-2341 *1411 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOT 7 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 -1,365.20	\$5,153.20 \$912.00 (\$1,365.20) \$4,700.00	14-28-23-22-0030
Kristine Marion Grill 1415 Alaska Ave St Paul MN 55116-2341 *1415 ALASKA AVE *Ward: 3	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOT 8 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 -1,502.70	\$5,153.20 \$912.00 (\$1,502.70) \$4,562.50	14-28-23-22-0031

13:21:46 4/10/2025	Public Improvement Assessment Roll by Address Ratification Date:  Project: 19233B Assmt: 215200 Manager: LMR Resolution #:			Page 6		
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Joselito Espino Iii Joselito Espino 1419 Alaska Ave St Paul MN 55116-2341	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOT 9 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	14-28-23-22-0032
*1419 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***				
Robert L Ekeberg Barbara Ekeberg 1423 Alaska Ave	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. EX NELY 20 FT LOT 11 AND ALL OF LOT 10 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	60.00 60.00 -3,097.80	\$7,729.80 \$1,368.00 (\$3,097.80)	14-28-23-22-0033
St Paul MN 55116-2341 *1423 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***		=	\$6,000.00	
Christopher C Wilmot 1431 Alaska Ave St Paul MN 55116-2341 *1431 ALASKA AVE	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. NELY 20 FT OF LOT 11 AND ALL OF LOT 12 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	60.00 60.00 -3,232.80	\$7,729.80 \$1,368.00 (\$3,232.80) \$5,865.00	14-28-23-22-0034
*Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***			\$5,005.00	
Amanda Burr 1435 Alaska Ave St Paul MN 55116-2341	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOT 13 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 -1,380.20	\$5,153.20 \$912.00 (\$1,380.20)	14-28-23-22-0035
*1435 ALASKA AVE *Ward: 3		*** Owner and Taxpayer ***		=	\$4,685.00	

13:21:46 4/10/2025

\*Pending as of: 4/14/2021

\*\*\*ESCROW\*\*\*

13:21:46 4/10/2025	Public Improvement Assessment R	Ratification Date: Project: 1	9233B Assm n #:	t: 215200 N	Manager: LMR	Pa
Owner or Taxpayer	<b>Property Description</b>	Item Description	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Matthew Mckenna	BIRMINGHAM'S FOURTH ADDITION	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	14-28-23-22-0038
Laura Howard	TO ST. PAUL, MINN. LOT 17 BLK 3	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1451 Alaska Ave		Special Benefit Cap 1	1.00	-1,552.70	(\$1,552.70)	
St Paul MN 55116-2341		***			\$4,512.50	
*1451 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***				
Richard W Fischer Tr	BIRMINGHAM'S FOURTH ADDITION	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	14-28-23-22-0039
Carolyn Fischer Tr	TO ST. PAUL, MINN. LOT 18 BLK 3	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1068 66th St N		Special Benefit Cap 1	1.00	-157.70	(\$157.70)	
Stillwater MN 55082-9647					\$5,907.50	
*1455 ALASKA AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 4/14/2021						
						***ESCROW***
 Kimberlee Johnson	BIRMINGHAM'S FOURTH ADDITION	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	14-28-23-22-0040
457 Alaska Ave	TO ST. PAUL, MINN. LOT 19 BLK 3	Lighting - Single Family Resid	22.80	40.00	\$912.00	
st Paul MN 55116-2341		Special Benefit Cap 1	1.00	-815.20	(\$815.20)	
1457 ALASKA AVE					\$5,250.00	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 4/14/2021						
						***ESCROW***
Gregory J Ewald	BIRMINGHAM'S FOURTH ADDITION	Grade & Pave - Single Family	128.83	80.00	\$10,306.40	14-28-23-22-0041
461 Alaska Ave	TO ST. PAUL, MINN. LOTS 20 AND LOT 21 BLK 3	Lighting - Single Family Resid	22.80	80.00	\$1,824.00	
t Paul MN 55116-2341	DOT DI DEKS	Special Benefit Cap 1	1.00	-5,852.90	(\$5,852.90)	
1465 ALASKA AVE					\$6,277.50	
Ward: 3		*** Owner and Taxpayer ***				

13:21:46 4/10/2025	Public Improvement Assessment Ro	oll by Address Project: 1 Ratification Date: Resolution	19233B Assm on #:	t: 215200	Manager: LMR	Page 9
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Susan K Schwartz Tr 1448 Pleasant Ave St Paul MN 55116-1759 *1471 ALASKA AVE *Ward: 3 *Pending as of: 4/14/2021	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. LOTS 22 AND LOT 23 BLK 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	69.00 69.00 -3,789.97	\$8,889.27 \$1,573.20 (\$3,789.97) \$6,672.50	14-28-23-22-0042
Clay Collins Tr 1 Edgcumbe Pl St Paul MN 55116-2308 *1 EDGCUMBE PL *Ward: 3 *Pending as of: 4/14/2021	EDGCUMBE PLACE ADDITION LOT 4 BLK 1	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	76.00 0.00 0.00	\$9,791.08 \$0.00 \$0.00 \$9,791.08	15-28-23-14-0057
	2/26/2021 Per Public Workslighting will not be improved on Edgcumbe Place due to tight right of way					***ESCROW***
David D Booker Katherine Sanchez 2 Edgcumbe Pl St Paul MN 55116-2308 *2 EDGCUMBE PL *Ward: 3	EDGCUMBE PLACE ADDITION PART OF LOT 5 BLK 1 LYING NLY OF FOL DESC LINE COM AT MOST WLY COR SD LOT TH NLY ON WL LOT 5 18.74 FT TO PT OF BEG TH S 63 DEG 03 MIN E 81 FT TH S 44 DEG 34 MIN 27 SEC E	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	82.00 0.00 0.00	\$10,564.06 \$0.00 \$0.00 \$10,564.06	15-28-23-14-0064
*Pending as of: 4/14/2021	2/26/2021 Per Public Workslighting will not be improved on Edgcumbe Place					***ESCROW***

due to tight right of way

13:21:46 4/10/2025	-	Public Improvement Assessment Roll by Address Project: 19233B Assmt: 215200 Manager: LMR Page 1 Ratification Date: Resolution #:							
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>			
Erik Hagen Jana Hagen 3 Edgcumbe Pl St Paul MN 55116-2308 *3 EDGCUMBE PL *Ward: 3 *Pending as of: 4/14/2021	EDGCUMBE PLACE ADDITION LOT 3 BLK 1 : SUBJ TO ROW ESMT; LOT 3 BLK 1	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	124.00 0.00 0.00	\$15,974.92 \$0.00 \$0.00 \$15,974.92	15-28-23-14-0056			
	2/26/2021 Per Public Workslighting will not be improved on Edgeumbe Place due to tight right of way								
Thomas J Meier Kathleen Meier 4 Edgcumbe Pl St Paul MN 55116-2308 *4 EDGCUMBE PL *Ward: 3 *Pending as of: 4/14/2021	EDGCUMBE PLACE ADDITION EX TRIANGULAR PART MEAS 18 FT ON THE WLY LINE & 75.24 FT ON THE SWLY LINE; LOT 6 BLK 1	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	167.00 0.00 -5,869.61	\$21,514.61 \$0.00 (\$5,869.61) \$15,645.00	15-28-23-14-0063			
	2/26/2021 Per Public Workslighting will not be improved on Edgeumbe Place due to tight right of way								
Kimberly G Miller Michael Miller 5 Edgcumbe Pl St Paul MN 55116-2308 *5 EDGCUMBE PL *Ward: 3 *Pending as of: 4/14/2021	EDGCUMBE PLACE ADDITION LOT 2 BLK 1	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	161.00 0.00 0.00	\$20,741.63 \$0.00 \$0.00 \$20,741.63	15-28-23-14-0055			
	2/26/2021 Per Public Workslighting will not be improved on Edgcumbe Place due to tight right of way								

Public Improvement Assessment Roll by Address Project: 19233B Assmt: 215200 Manager: LMR Ratification Date: Resolution #:					
<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
WOODFORD PARK, ST. PAUL, MINN. E 10 FT OF VAC ALLEY ADJ AND EX EDGCUMBE RD LOTS 5 AND LOT 6 BLK 6	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	93.00 93.00 0.00	\$11,981.19 \$2,120.40 \$0.00	10-28-23-44-0095
	*** Owner and Taxpayer ***			\$14,101.39	
MONTCALM COURT PART OF LOT 1 NLY OF FOL L BEG AT PT 12 FT NELY FROM SWLY COR OF AND ON NWLY L OF LOT 1 TH ON A L EXTENDED TO	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	73.00 73.00 0.00	\$9,404.59 \$1,664.40 \$0.00	15-28-23-11-0001
NELY FROM S COR OF LOT 1 TO A PT	*** Owner and Taxpayer ***			\$11,068.99	
WEST END EDGCUMBE LOT 1 BLK 9	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	100.00 100.00 0.00 =	\$12,883.00 \$2,280.00 \$0.00 \$15,163.00	15-28-23-11-0066
					***ESCROW***
WEST END EDGCUMBE PART OF LOT 1 MONTCALM COURT SLY OF L RUN FROM PT ON WLY L OF AND 12 FT NELY FROM MOST WLY COR THEREOF TO PT ON SELY L OF AND 72 47/100 FT NELY FROM MOST SLY	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	188.00 188.00 -2,806.44	\$24,220.04 \$4,286.40 (\$2,806.44) \$25,700.00	15-28-23-11-0058
	Property Description  WOODFORD PARK, ST. PAUL, MINN. E 10 FT OF VAC ALLEY ADJ AND EX EDGCUMBE RD LOTS 5 AND LOT 6 BLK 6  MONTCALM COURT PART OF LOT 1 NLY OF FOL L BEG AT PT 12 FT NELY FROM SWLY COR OF AND ON NWLY L OF LOT 1 TH ON A L EXTENDED TO PT ON SELY L OF AND 72 47/100 FT NELY FROM S COR OF LOT 1 TO A PT  WEST END EDGCUMBE LOT 1 BLK 9  WEST END EDGCUMBE PART OF LOT 1 MONTCALM COURT SLY OF L RUN FROM PT ON WLY L OF AND 12 FT NELY FROM MOST WLY COR	WOODFORD PARK, ST. PAUL, MINN. E 10 FT OF VAC ALLEY ADJ AND EX EDGCUMBE RD LOTS 5 AND LOT 6 BLK 6  MONTCALM COURT PART OF LOT 1 NLY OF FOL L BEG AT PT 12 FT NELY FROM SWLY COR OF AND ON NWLY L OF LOT 1 TH ON A L EXTENDED TO PT ON SELY L OF AND 72 47/100 FT NELY FROM S COR OF LOT 1 TO A PT  WEST END EDGCUMBE LOT 1 BLK 9  WEST END EDGCUMBE LOT 1 BLK 9  WEST END EDGCUMBE PART OF LOT 1 1 MONTCALM COURT SLY OF L RUN FROM PT ON WLY L OF AND 12 FT NELY FROM S COR OF LOT 1 TO A PT  WEST END EDGCUMBE PART OF LOT 1 1 MONTCALM COURT SLY OF L RUN FROM PT ON WLY L OF AND 12 FT NELY FROM MOST WLY COR THEREOF TO PT ON SELY L OF AND  Item Description  Grade & Pave - Single Family Lighting - Single Family Lighting - Single Family Lighting - Single Family Lighting - Single Family Special Benefit Cap 1  *** Owner and Taxpayer ***  *** Owner and Taxpayer ***  WEST END EDGCUMBE PART OF LOT 1 MONTCALM COURT SLY OF L RUN FROM PT ON WLY L OF AND 12 FT NELY FROM MOST WLY COR THEREOF TO PT ON SELY L OF AND	Property Description   Item Description   Unit Rate	Noodpord Park, St. Paul, Minn. E	Nontcalm Court part of Lot   Lighting - Single Family   128.83   93.00   \$11,981.19   10 FT OF VAC ALLEY ADJ AND EX EDGCUMBE RD LOTS 5 AND LOT 6 BLK 6   Special Benefit Cap 1   1.00   0.00   \$0.00   \$14,101.59

\*Ward: 3

13:21:46 4/10/2025	-	Public Improvement Assessment Roll by Address Project: 19233B Assmt: 215200 Manager: LMR Ratification Date: Resolution #:				
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Peter H Kelly	WEST END EDGCUMBE LOT 2 BLK	Grade & Pave - Single Family	128.83	110.00	\$14,171.30	15-28-23-11-0067
Nancy Kelly	9	Lighting - Single Family Resid	22.80	110.00	\$2,508.00	
1515 Edgcumbe Rd		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2302		*** O 1 T ***			\$16,679.30	
*1515 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 4/14/2021						
*rending as of: 4/14/2021						
Christopher Wright Hilton Tr	WEST END EDGCUMBE LOT 2 BLK	Grade & Pave - Single Family	128.83	150.00	\$19,324.50	15-28-23-11-0059
Maren Hilton	17	Lighting - Single Family Resid	22.80	150.00	\$3,420.00	
1516 Edgcumbe Rd		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2301					\$22,744.50	
*1516 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
Richard S Ramsay	WEST END EDGCUMBE LOT 3 BLK	Grade & Pave - Single Family	128.83	125.00	\$16,103.75	15-28-23-11-0060
Kirsten Ramsay	17	Lighting - Single Family Resid	22.80	125.00	\$2,850.00	
1520 Edgcumbe Rd		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2301					\$18,953.75	
*1520 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
Heidi M Wingerd Tr	WEST END EDGCUMBE EX S 60 FT OF	Grade & Pave - Single Family	128.83	103.00	\$13,269.49	15-28-23-11-0068
Mark Wingerd Tr	THE W 30 FT LOT 3 BLK 9	Lighting - Single Family Resid	22.80	103.00	\$2,348.40	10 20 20 11 0000
1521 Edgcumbe Rd		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2302				=	\$15,617.89	
*1521 EDGCUMBE RD		*** Owner and Taxpayer ***				

13:21:46 4/10/2025	Public Improvement Assessment Roll by Address Project: 19233B Assmt: 215200 Manager: LMR Pa Ratification Date: Resolution #:						
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Joseph Sarakaitis Molly Sarakaitis 1527 Edgcumbe Rd St Paul MN 55116-2302 *1527 EDGCUMBE RD *Ward: 3 *Pending as of: 4/14/2021	WEST END EDGCUMBE EX N 30 FT OF THE W 180 FT LOT 9 BLK 9	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	50.00 50.00 0.00	\$6,441.50 \$1,140.00 \$0.00 \$7,581.50	15-28-23-12-0006	
Paul M Dzubnar Jennifer Dzubnar 1530 Edgcumbe Rd St Paul MN 55116-2301 *1530 EDGCUMBE RD *Ward: 3 *Pending as of: 4/14/2021	WEST END EDGCUMBE NLY 20 FT OF LOT 5 & EX WLY 175 FT; LOT 4 BLK 17	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	50.00 50.00 -4,526.50	\$6,441.50 \$1,140.00 (\$4,526.50) \$3,055.00	15-28-23-11-0061	
Paul M Dzubnar Jennifer Dzubnar 1530 Edgcumbe Rd St Paul MN 55116-2301 *1530 EDGCUMBE RD *Ward: 3 *Pending as of: 4/14/2021	WEST END EDGCUMBE WLY 175 FT OF LOT 4 BLK 17	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	100.00 100.00 0.00	\$12,883.00 \$2,280.00 \$0.00 \$15,163.00	15-28-23-11-0062	
Leo F Feeney Jeanne Feeney 1541 Edgcumbe Rd St Paul MN 55116-2302 *1541 EDGCUMBE RD	WEST END EDGCUMBE LOT 10 BLK 9	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	100.00 100.00 0.00	\$12,883.00 \$2,280.00 \$0.00 \$15,163.00	15-28-23-12-0007	

\*\*\* Owner and Taxpayer \*\*\*

\*1555 EDGCUMBE RD \*Ward: 3

13:21:46 4/10/2025	Public Improvement Assessment Roll by Address Project: 19 Ratification Date: Resolution		9233B Assm	t: 215200 N	Ianager: LMR	r: LMR Page 1	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Heidi K Carlson Tr Erick Carlson Tr 1565 Edgcumbe Rd St Paul MN 55116-2304 *1565 EDGCUMBE RD *Ward: 3 *Pending as of: 4/14/2021	WEST END EDGCUMBE LOT 2 BLK 10	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	90.00 90.00 0.00 =	\$11,594.70 \$2,052.00 \$0.00 \$13,646.70	15-28-23-12-0010	
1570 Edgcumbe Road Llc 180 Mississippi River Blvd S St Paul MN 55105-1110 *1570 EDGCUMBE RD *Ward: 3	PART LOT 7 LYING NLY OF L DESC AS BEG AT INTER W L LOT 7 WITH L LYING 100 FT SLY OF AND PAR WITH N L SD LOT 7 AND ITS WLY EXT TH ELY ALONG SD PAR L 200.38 FT TH ELY 137.59 FT TO PT ON E L SD LOT 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	125.00 125.00 0.00	\$16,103.75 \$2,850.00 \$0.00 \$18,953.75	15-28-23-11-0080	
*Pending as of: 4/14/2021						***ESCROW***	
Thomas M Walsh Iv Tr Christine Walsh 1575 Edgcumbe Rd St Paul MN 55116-2304 *1575 EDGCUMBE RD *Ward: 3 *Pending as of: 4/14/2021	WEST END EDGCUMBE LOT 3 BLK 10	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	120.00 120.00 0.00 =	\$15,459.60 \$2,736.00 \$0.00 \$18,195.60	15-28-23-12-0011	
Christopher Pensinger Karen Pensinger 1583 Edgeumbe Rd St Paul MN 55116-2304 *1583 EDGCUMBE RD	WEST END EDGCUMBE N 120 FT OF LOT 4 BLK 10	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1 *** Owner and Taxpayer ***	128.83 22.80 1.00	120.00 120.00 0.00 =	\$15,459.60 \$2,736.00 \$0.00 \$18,195.60	15-28-23-12-0012	

Grade & Pave - Single Family

Lighting - Single Family Resid

\*\*\* Owner and Taxpayer \*\*\*

Special Benefit Cap 1

WEST END BEG AT PT ON CL OF

ALBION AVE VAC 177 5/10 FT SELY

FROM INTERSECTION OF SD CL WITH

ELY L OF EDGCUMBE RD BEING 160

SD RD TH WLY ON A L AT RA TO ELY

FT FROM NEAREST PT ON ELY L OF

128.83

22.80

1.00

200.00

200.00

-6,076.00

\$25,766.00

\$4,560.00

(\$6,076.00)

\$24,250.00

\*Ward: 3

\*Pending as of: 4/14/2021

\*1594 EDGCUMBE RD

Greg T Baumberger

1594 Edgcumbe Rd

St Paul MN 55116-2301

Sarah Aesoph

15-28-23-13-0003

13:21:46 4/10/2025	Public Improvement Assessment Roll by Address Project: 19233B Assmt: 215200 Manager: LMR Ratification Date: Resolution #:						
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Alexander J Dunkel Mary Dunkel 1625 Edgcumbe Rd St Paul MN 55116-2306 *1625 EDGCUMBE RD	WEST END EDGCUMBE EX W 115 FT LOT 3 BLK 6	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	103.00 103.00 0.00	\$13,269.49 \$2,348.40 \$0.00 \$15,617.89	15-28-23-13-0013	
*Ward: 3 *Pending as of: 4/14/2021							
Valerie A Mooney	WEST END SUBJ TO ESMTS AND EX ELY 120 FT MEASURED ON PVT RD	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	15-28-23-13-0006	
Stephen Mooney 1634 Edgeumbe Rd St Paul MN 55116-2303	CL THE FOL BEG 313 FT WLY ON CL OF SD PVT RD FROM W COR OF SCOT TRACT AS IN 1797 DEEDS 481 TH	Lighting - Single Family Resid Special Benefit Cap 1	22.80 1.00	40.00 0.00	\$912.00 \$0.00		
*1634 EDGCUMBE RD  *Ward: 3  *Pending as of: 4/14/2021	NWLY ON SD CL TO E L OF	*** Owner and Taxpayer ***			\$6,065.20		
Samantha Kealey 1205 Eleanor Ave	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA VAC ALLEY IN DOC 2171391 ACCRUING & FOL; E1/2	Grade & Pave - Single Family Lighting - Single Family Resid	128.83 22.80	64.00 64.00	\$8,245.12 \$1,459.20	10-28-23-44-0075	
St Paul MN 55116-1705 *1205 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	OF LOT 9 & ALL OF LOT 8 BLK 6	Special Benefit Cap 1  *** Owner and Taxpayer ***	1.00	-1,169.32 :	(\$1,169.32) \$8,535.00		
Frederick R Czeswik Joanne Czeswik 1214 Eleanor Ave St Paul MN 55116-1704	WOODFORD PARK, ST. PAUL, MINN. W 10 FT OF VAC ALLEY ADJ AND LOT 12 BLK 6	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	45.00 45.00 0.00	\$5,797.35 \$1,026.00 \$0.00 \$6,823.35	10-28-23-44-0099	
*1214 ELEANOR AVE		*** Owner and Taxpayer ***					

13:21:46 4/10/2025

\*Pending as of: 4/14/2021

\*1239 ELEANOR AVE

\*\*\* Owner and Taxpaver \*\*\*

\*1250 ELEANOR AVE
\*Ward: 3

\*Pending as of: 4/14/2021

\$6,065.20

\*\*\* Owner and Taxpayer \*\*\*

\*Ward: 3

\*Ward: 3

\*\*\* Owner and Taxpaver \*\*\*

\*1291 ELEANOR AVE

\*Pending as of: 4/14/2021

\*Ward: 3

StPaul Assessment Roll Assessment by Address

\$6,065.20

13:21:46 4/10/2025	Public Improvement Assessment R I	oll by Address Project: 19 Ratification Date: Resolution	233B Assm #:	t: 215200 N	Manager: LMR		
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Kent W Hammond Patricia Hammond 1294 Eleanor Ave St Paul MN 55116-1708 *1294 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	WOODFORD PARK, ST. PAUL, MINN. LOT 4 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0201	
Abolfazl Mazhariravesh 1295 Eleanor Ave St Paul MN 55116-1709 *1295 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 27 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0165	
Sarah White Iosif Sorokin 1298 Eleanor Ave St Paul MN 55116-1708 *1298 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	EX W 0.30 FT OF THE N 40.5 FT; LOT 5 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 -1,148.95	\$5,153.20 \$912.00 (\$1,148.95) \$4,916.25	10-28-23-43-0239	
*1302 ELEANOR AVE  *Ward: 3  *Pending as of: 4/14/2021	WOODFORD PARK, ST. PAUL, MINN. LOTS 5 AND LOT 6 BLK 8	Less Land Usage Discount (%) Less Rate of Discharge Discount Less Flood Plain Discount (%)	(%)			10-28-23-43-0202	

StPaul	Assessment	Roll	Assessment	bv	Address

13:21:46 4/10/2025	Public Improvement Assessment Re	oll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200	Manager: LMR	Pag		
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>		
Laura Zook Nathan Zook 1302 Eleanor Ave	THE W 0.30 FT OF THE N 40.5 FT OF LOT 5 & LOT 6 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 -1,148.95	\$5,153.20 \$912.00 (\$1,148.95)	10-28-23-43-0240		
St Paul MN 55116-1708 *1302 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***			\$4,916.25			
William T Wengler 1303 Eleanor Ave St Paul MN 55116-1709 *1303 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOTS 25 & LOT 26 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	80.00 80.00 -3,397.90	\$10,306.40 \$1,824.00 (\$3,397.90) \$8,732.50	10-28-23-43-0164		
Kathleen K Slagerman Scott Slagerman 1306 Eleanor Ave St Paul MN 55116-1708 *1306 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021	WOODFORD PARK, ST. PAUL, MINN. LOT 7 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0203		
John C Bergstrom 1307 Eleanor Ave St Paul MN 55116-1709 *1307 ELEANOR AVE	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 24 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0163		

\*\*\* Owner and Taxpayer \*\*\*

\*Ward: 3

13:21:46 4/10/2025	Public Improvement Assessment Ro	Page 30				
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
David L Ehren Christine Ehren 1310 Eleanor Ave	WOODFORD PARK, ST. PAUL, MINN. LOT 8 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 -387.70	\$5,153.20 \$912.00 (\$387.70)	10-28-23-43-0204
St Paul MN 55116-1708 *1310 ELEANOR AVE *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***			\$5,677.50	
Eric M Incitti Tr Yi Incitti Tr 1311 Eleanor Ave St Paul MN 55116-1709 *1311 ELEANOR AVE *Ward: 3	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 23 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0162
*Pending as of: 4/14/2021  Patrick Sutherland Megan Sutherland 1314 Eleanor Ave St Paul MN 55116-1708  *1314 ELEANOR AVE  *Ward: 3	WOODFORD PARK, ST. PAUL, MINN. LOT 9 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0205
*Pending as of: 4/14/2021						***ESCROW***
Katrina M Bell Robert Crandall 1315 Eleanor Ave St Paul MN 55116-1709 *1315 ELEANOR AVE	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 22 BLK 8	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0161

13:21:46 4/10/2025	Public Improvement Assessment R F	oll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200	Manager: LMR	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Juan V Navarro	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0206
Hannah Navarro	LOT 10 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1318 Eleanor Ave		Special Benefit Cap 1	1.00	-467.70	(\$467.70)	
St Paul MN 55116-1708		alvaluals CO 1 TE abalisals			\$5,597.50	
*1318 ELEANOR AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 4/14/2021						***ESCROW***
E Judy Evens Tr	LEXINGTON PARK PLAT 11, RAMSEY	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0160
1319 Eleanor Ave	COUNTY, MINNESOTA LOT 21 BLK 8		22.80	40.00	\$912.00	10 20 20 10 0100
St Paul MN 55116-1709		Special Benefit Cap 1	1.00	0.00	\$0.00	
*1319 ELEANOR AVE				•	\$6,065.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 4/14/2021						
Rebecca L Connolly	LEXINGTON PARK PLAT 11, RAMSEY	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0159
1321 Eleanor Ave	COUNTY, MINNESOTA LOT 20 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
St Paul MN 55116-1709		Special Benefit Cap 1	1.00	0.00	\$0.00	
*1321 ELEANOR AVE					\$6,065.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 4/14/2021						
Thor E Backus	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0207
Karen Tuerk	LOT 11 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1322 Eleanor Ave		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-1708				;	\$6,065.20	
*1322 ELEANOR AVE		*** Owner and Taxpayer ***				

\*\*\* Owner and Taxpaver \*\*\*

\*1332 ELEANOR AVE

\*Pending as of: 4/14/2021

\*Ward: 3

StPaul Assessment Roll Assessment by Address

\$5,097.50

13:21:46 4/10/2025	Public Improvement Assessment R	Ratification Date: Resolution	19233B Assm on #:	t: 215200 I	Manager: LMR		
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Kate Schmidt Thomas Schmidt	KING'S PARK VIEW LOT 14 BLK 1	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	60.00 60.00 0.00	\$7,729.80 \$1,368.00 \$0.00	15-28-23-12-0064	
724 Hamline Ave S St Paul MN 55116-2209 *724 HAMLINE AVE S		*** Owner and Taxpayer ***	1.00	=	\$9,097.80		
*Ward: 3 *Pending as of: 4/14/2021							
						***ESCROW***	
Chad W Skally Shannon Skally 1215 Highland Pkwy St Paul MN 55116-2210	WOODFORD PARK, ST. PAUL, MINN. W 10 FT OF VAC ALLEY ADJ AND LOTS 7 AND LOT 8 BLK 6	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	91.00 91.00 0.00	\$11,723.53 \$2,074.80 \$0.00 \$13,798.33	10-28-23-44-0096	
*1215 HIGHLAND PKWY *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***			\$13,170.33		
Theresa Prior 1223 Highland Pkwy St Paul MN 55113-2211	WOODFORD PARK, ST. PAUL, MINN. LOT 30 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00	10-28-23-43-0197	
*1223 HIGHLAND PKWY *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***	1100	=	\$6,065.20		
Mary M Lynch	WOODFORD PARK, ST. PAUL, MINN. LOT 29 BLK 7	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0196	
1227 Highland Pkwy St Paul MN 55116-2211 *1227 HIGHLAND PKWY	EGT 1/ DEIX /	Lighting - Single Family Resid Special Benefit Cap 1	22.80 1.00	40.00 0.00	\$912.00 \$0.00 \$6,065.20		

\*\*\* Owner and Taxpayer \*\*\*

\*Ward: 3

13:21:46 4/10/2025	Public Improvement Assessment R	Roll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200 N	Manager: LMR Pa			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>		
James M Larson 1231 Highland Pkwy St Paul MN 55116-2211	WOODFORD PARK, ST. PAUL, MINN. LOT 28 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00	10-28-23-43-0195		
*1231 HIGHLAND PKWY *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***		=	\$6,065.20			
Deborah J Vail 1235 Highland Pkwy	WOODFORD PARK, ST. PAUL, MINN. LOT 27 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid	128.83 22.80	40.00	\$5,153.20 \$912.00	10-28-23-43-0194		
1235 Highland T kwy St Paul MN 55116-2211 *1235 HIGHLAND PKWY		Special Benefit Cap 1	1.00	0.00	\$0.00			
*Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***						
Opendoor Property Trust I Po Box 1057 Pico Rivera CA 90660-1057 *1239 HIGHLAND PKWY *Ward: 3	WOODFORD PARK, ST. PAUL, MINN. LOT 26 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00 \$6,065.20	10-28-23-43-0193		
*Pending as of: 4/14/2021						***ESCROW***		
Michael A Sieden 1243 Highland Pkwy St Paul MN 55116-2211	WOODFORD PARK, ST. PAUL, MINN. LOT 25 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 -950.20	\$5,153.20 \$912.00 (\$950.20)	10-28-23-43-0192		
*1243 HIGHLAND PKWY *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***			\$5,115.00			
Gregory L Rife Susan Lee Rife 1247 Higland Pkwy	WOODFORD PARK, ST. PAUL, MINN. LOT 24 BLK 7	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1	128.83 22.80 1.00	40.00 40.00 0.00	\$5,153.20 \$912.00 \$0.00	10-28-23-43-0191		
St Paul MN 55116-2211 *1247 HIGHLAND PKWY		*** Owner and Taxpayer ***			\$6,065.20			

\*Pending as of: 4/14/2021

\*\*\*ESCROW\*\*\*

\*\*\*ESCROW\*\*\*

13:21:46 4/10/2025	Public Improvement Assessment F	Roll by Address Project: 1 Ratification Date: Resolutio	9233B Assmi n #:	t: 215200	Manager: LMR	Page 38
Owner or Taxpayer	<b>Property Description</b>	Item Description	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Tyler S Penniman	KING'S PARK VIEW LOT 1 BLK 1	Grade & Pave - Single Family	128.83	60.00	\$7,729.80	15-28-23-12-0051
Angela Penniman		Lighting - Single Family Resid	22.80	60.00	\$1,368.00	
1282 Highland Pkwy		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2212					\$9,097.80	
*1282 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
Christopher J Campbell	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0225
Mary Coyle	LOT 29 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1285 Highland Pkwy		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2213					\$6,065.20	
*1285 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
Greg T Baumberger	KING'S PARK VIEW LOT 2 BLK 1	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	15-28-23-12-0052
Sarah Aesoph		Lighting - Single Family Resid	22.80	40.00	\$912.00	
1594 Edgcumbe Rd		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2301					\$6,065.20	
*1288 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
						***ESCROW***
Hallory K Kampmeier	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0224
1289 Highland Pkwy	LOT 28 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	=
St Paul MN 55116-2213		Special Benefit Cap 1	1.00	-232.70	(\$232.70)	
*1289 HIGHLAND PKWY					\$5,832.50	
*Ward: 3		*** Owner and Taxpayer ***			*	

\*\*\* Owner and Taxpayer \*\*\*

\*Ward: 3

\*Pending as of: 4/14/2021

13:21:46 4/10/2025

13:21:46 4/10/2025	Public Improvement Assessment R	oll by Address Project: 1 Ratification Date: Resolutio	9233B Assmi n #:	t: 215200 N	Manager: LMR	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Stephen M Michael	KING'S PARK VIEW LOT 10 BLK 1	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	15-28-23-12-0060
Nancy Michael		Lighting - Single Family Resid	22.80	40.00	\$912.00	
1318 Highland Pkwy		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2212				_	\$6,065.20	
*1318 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 4/14/2021						
Courtney Dickinson	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0217
1319 Highland Pkwy	LOT 21 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
St Paul MN 55116-2213		Special Benefit Cap 1	1.00	0.00	\$0.00	
*1319 HIGHLAND PKWY				-	\$6,065.20	
*Ward: 3		*** Owner and Taxpayer ***			,	
*Pending as of: 4/14/2021						
Cassie L Yager	KING'S PARK VIEW LOT 11 BLK 1	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	15-28-23-12-0061
Ser Whitaker		Lighting - Single Family Resid	22.80	40.00	\$912.00	18 20 20 12 0001
1322 Highland Pkwy		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2212				=	\$6,065.20	
*1322 HIGHLAND PKWY		*** Owner and Taxpayer ***			\$0,000.20	
*Ward: 3		1 2				
*Pending as of: 4/14/2021						
Tonding 45 01. 1/1 1/2021						***ESCROW***
John T Hughes	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0216
1323 Highland Pkwy	LOT 20 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	10 20 20 10 0210
St Paul MN 55116-2213		Special Benefit Cap 1	1.00	0.00	\$0.00	
*1323 HIGHLAND PKWY		_		=	\$6,065.20	
*Ward: 3		*** Owner and Taxpayer ***			40,000.20	

\*Pending as of: 4/14/2021

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

\*Pending as of: 4/14/2021

\*1333 HIGHLAND PKWY

13:21:46 4/10/2025	Public Improvement Assessment F	Roll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	t: 215200	Manager: LMR	Page 44
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Patrick Hauswald	WOODFORD PARK, ST. PAUL, MINN.	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0213
Cassandra Hauswald	LOT 17 BLK 8	Lighting - Single Family Resid	22.80	40.00	\$912.00	
1335 Highland Pkwy		Special Benefit Cap 1	1.00	0.00	\$0.00	
St Paul MN 55116-2213					\$6,065.20	
*1335 HIGHLAND PKWY *Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***				
Eric M Knaff	WOODFORD PARK, ST. PAUL, MINN. LOT 16 BLK 8	Grade & Pave - Single Family	128.83	40.00	\$5,153.20	10-28-23-43-0212
1339 Highland Pkwy	LOT TO BER 0	Lighting - Single Family Resid Special Benefit Cap 1	22.80 1.00	40.00 0.00	\$912.00 \$0.00	
St Paul MN 55116-2213		Special Benefit Cap 1	1.00	0.00		
*1339 HIGHLAND PKWY		*** Owner and Taxpayer ***			\$6,065.20	
*Ward: 3 *Pending as of: 4/14/2021		··· Owner and Taxpayer ···				
Daniel L Berg	WEST END LOT 14 BLK 24	Grade & Pave - Single Family	128.83	50.00	\$6,441.50	15-28-23-11-0056
776 Lexington Pkwy S		Lighting - Single Family Resid	22.80	50.00	\$1,140.00	
St Paul MN 55116-2349		Special Benefit Cap 1	1.00	-2,809.00	(\$2,809.00)	
*776 LEXINGTON PKWY S					\$4,772.50	
*Ward: 3 *Pending as of: 4/14/2021		*** Owner and Taxpayer ***				
Matthew Huch	WEST END LOT 1 BLK 23	Grade & Pave - Single Family	128.83	59.00	\$7,600.97	15-28-23-11-0026
Christina Huch		Lighting - Single Family Resid	22.80	59.00	\$1,345.20	
780 Lexington Pkwy S		Special Benefit Cap 1	1.00	-918.67	(\$918.67)	
St Paul MN 55116-2350					\$8,027.50	
*780 LEXINGTON PKWY S		*** Owner and Taxpayer ***				

13:21:46 4/10/2025	Public Improvement Assessment R	oll by Address Project: 1 Ratification Date: Resolutio	9233B Assm n #:	at: 215200	Manager: LMR	Page 46
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Richard P Purvis Stephanie Purvis 1655 Middleton Ave St Paul MN 55116-2356 *1655 MIDDLETON AVE *Ward: 3	BIRMINGHAM'S FOURTH ADDITION TO ST. PAUL, MINN. EX THE NELY 11.63 FT, LOT 9 & ALL OF LOT 10 BLK 4	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	60.00 60.00 -3,010.30	\$7,729.80 \$1,368.00 (\$3,010.30) \$6,087.50	14-28-23-22-0138
*Pending as of: 4/14/2021  David G Kabanuk 15 Montcalm Ct St Paul MN 55116-1727  *15 MONTCALM CT  *Ward: 3  *Pending as of: 4/14/2021	MONTCALM COURT LOTS 4 AND LOT 5	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	177.00 177.00 -11,966.01	\$22,802.91 \$4,035.60 (\$11,966.01) \$14,872.50	15-28-23-11-0004
Joseph S Micallef Jane Micallef 7 Montcalm Ct St Paul MN 55116-1727 *7 MONTCALM CT *Ward: 3 *Pending as of: 4/14/2021	MONTCALM COURT THAT PART OF LOT 1 LYING SLY & ELY OF FOL DESC L BEG AT MOST SLY COR OF SD LOT TH NELY 52 FT MOL TO PT 163 FT ELY ON A L RUN FROM PT ON WLY L OF & 12 FT NELY FROM MOST WLY COR OF	Special Benefit Cap 1	128.83 22.80 1.00	128.00 128.00 0.00	\$16,490.24 \$2,918.40 \$0.00 \$19,408.64	15-28-23-11-0002
152823110003 Po Box 17370 St Paul MN 55117-0370 *9 MONTCALM CT *Ward: 3 *Pending as of: 4/14/2021	MONTCALM COURT LOT 3	Grade & Pave - Single Family Lighting - Single Family Resid Special Benefit Cap 1  *** Owner and Taxpayer ***	128.83 22.80 1.00	106.00 106.00 0.00	\$13,655.98 \$2,416.80 \$0.00 \$16,072.78	15-28-23-11-0003

\*\*\*ESCROW\*\*\*

\*\*\* Owner and Taxpayer \*\*\*

\*660 MONTCALM PL \*Ward: 3

13:21:46 4/10/2025			Manager: LMR	Page 50
	Ratification Date:	Resolution #:		

Owner or Taxpayer	Property Description	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Total Grade & Pave - Single Family Reside	\$1,496,746.94					
Total Lighting - Single Family Residential:	\$242,067.60					
Total Grade & Pave - Other (Institutional-I	\$289,094.52					
Total Lighting - Other (Institutional-Religio	\$51,163.20					
Total Special Benefit Cap 1:	(\$170,338.45)					
Project Total:	\$1,908,733.81	B 11 11 E	22.00	26.722.00	#2.050.052.2¢	
<b>Less Total Discounts:</b>	\$0.00	Residential Frontage:	22.80	26,723.00	\$2,079,072.26	
Project Total:	\$1,908,733.81					

204 Parcel(s) 1 Cert. Exempt Parcel(s)